278

FRPEMERES X2 H(VFE) $%
XINBIAN ZHONGXUE SHUXUE JIETI FANGFA QUANSHU( CHUZHONG BAN)  ZHONGIUAN

ERBITHSERENRS

H P A PP T B RS SN “199 £ R,
Hoh s 4R 1. CRHTE ABCD HETFHE N INE 0, XM ACE
B2, AC M1 BD M3 P, AB = BD,IL PC = 0.6,5RIU217% ABCD (45K,

1 fEEIRR

Wik Al 2,5t BYEBH | AD FH,EN AB = BD, BT /1 = 2,
AH = DH,BH B0 0, I
AB _ A0
PB ~ oP
B
PB = 2 4B.PD - 2 a8 D
% © 0 M3 AC, BD W3EF P, IFLL
PA-PC = PB- PD @

# O, &8 4B = V6.
Wh ACH Qo mEEZ
ZBAD = /BDA = / BCA

FrLL
RiA ABC v RiA BHA

BrLA

AB _ AC _ BC

BH = AB = AH
B

BH = 2,AH = v/ AB® - BH? = 2,AD = 242, BC =3

B A

€D = 20H = 2(2-1.5) = 1
FTLAMATE ABCD B H 1 +43 +46 + 242,
MiE2 W3 op, M A1 = L2 WK AB = BDFTL /1 + /3 =

) yCh _ PC _
L2+ 4L /3 = /4 = /_s,EFrLAOD = OP,EH ch =1.A%

APAB o APDC

B
AR _PA _ PB
€D = PD = PC
By
PB = %AH,PD - %
i

PD + PB = AB
FRLA AB = V6,430 AC JH#E, BT




BC = v AC* - AB* = V3,AD = vV AC? _ CD? = 242
LAF .
ME3 A 4,55 BO HIEEK A AD TH,% ©0 FF,5% AF.
By AB = BD,AC %%, FfLA AH = DH,BH | AD,CD | AD FfLL BH //
. g 08 _ OP o m
CD, U oy = po B CD = 1LY
1 ]

OH = 5 €D =
B
BH = 2,HF = 1
M h
ZBAF = /AHB = /AHF = 9F
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(1) # AC ¥4 ./ BAD,AP* = PB - PD W cos / BAC = cod S APD;
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